B MOX0.8 L2
5
0.9%45° _» | )
Qu
Y
I ;
Dl 0.5%45° N -
X \
G - g
o : !
QKPXXO
0 0%
$8-03 L
HAREK:
1. Rt
SENIMR 22
FHAR PR | A% PR —
¥ o | m SPOB (BEemma | Ewwen ﬁi%m
[ RLALe S o1 1.0 1 2:1
LS| >30~120 | £0.3 [ 0.8
— >120~400 | +0.5 +1.2
0% >400~1000 | £0.8 2.0
- =1000~2000] +1.2 30 —
T & it #E 0004000l F20 | ®40] & W H W




J | 0
\ Qu — (@)
%;y’ B R
\ !
| ] |

o

u “

T l

A A
28+01
- B1D _ _ ®10

18
BRER:
1. KRG

2+ logolRE0. Imm
3. logoZ i BB Ab3R
4. el 5 e AR 22 e A I

r
i EH
AR WRPRR | A% PR =
" NI SPOB (BEemma | Ewwen ﬁi%m
. S >3 0.1 +0.3 :
[ briEH S 5T 301 L0 1 2:1
x| >30~120 +0.3 +0.8
. >120~400 | +0.5 £1.2
0% >400~1000 | £0.8 2.0
~ — =>1000~2000] +1.2 £30 —
T Z it #E 0004000l F20 | ®40] & W H W




/.5

FiIARELRK

1. Bi%ro.6, #i%12
2. LSS A B R
3. RIEHE

1A
N Fe1
AR WRPRR | A% PR =
" Ny SPOB (BEemma | Ewwen ﬁi%m
WH | RS 5 o1 | 507 A (% B[k Bl
. >3 0.1 +0.3 5
e pos R I 2:1
LS| >30~120 | £0.3 [ 0.8
. >120~400 | +0.5 £1.2
0% >400~1000 | £0.8 2.0
o =>1000~2000] +1.2 £30 —
I Z‘ >2OOON4OOO i2.0 i4.0 ;j% ﬁ ﬁ




FiIARELRK

1. Bi%g0.6, $i%24
2. TRl AL A B
3. RIEHE

1k
WA 2
AR WRPRR | A% PR B
- " Ny SPOB (BEemma | Ewwen ﬁi%m
oo — v >34 +0.1 +0.3 .
i r briEH S 7T 301 L0 1 2:1
LS| >30~120 | £0.3 [ 0.8
. >120~400 | +0.5 £1.2
0% >400~1000 | £0.8 2.0
~ — >1000~2000] £1.2 £30 —
T Z it #E So000—a000l F20 | ®40] & W i




FiIARELRK

1. Bi%ro.6, #i%12
2. LSS A B R
3. RIEHE

1k
N5 3
AR WRPRR | A% PR =
" Ny SPOB (BEemma | Ewwen ﬁi%m
WH | RS 5 o1 | 507 A (% B[k Bl
. >3 0.1 +0.3 5
e pos I I 2:1
LS| >30~120 | £0.3 [ 0.8
. >120~400 | +0.5 £1.2
0% >400~1000 | £0.8 2.0
o =>1000~2000] +1.2 £30 —
I Z‘ >2OOON4OOO i2.0 i4.0 ;j% ﬁ ﬁ




E / | 1
T
) N
Y~y '
e
T
| M5%0.8 m,
FIARELK

1. Bi%0.6, $%i%30

2+ LEHE A ERE

3. RIEZME

W4

BEAR PR | A% PR ﬁ': %lﬂ

- " Ny SPOB (BEemma | Ewwen 2
oo — v >34 +0.1 +0.3 .
i r briEH S 7T 301 L0 2:1
7% >30~120 +0.3 +0.8
5 >120~400 | 0.5 +1.2
H % >400~1000 | +0.8 +2.0

—~ — >1000~2000] +1.2 £3.0 —
T Z it #E So000—a000l F20 | ®40] & W i




M3

| |
1 1 | 1
x o)
| N ‘
| ) Y
i LQ“ [/
i ~y !
-0.1
| ®6-0e
fJ‘
N :4/
/Q‘Q(b
o 1.8
® — —
B
AR WRPRR | A% PR =
" I R SB[ Bvsma | Eason ﬁi%m
. o >3 0.1 +0.3 5
[ briEH S 7T 301 L0 1 2:1
LS| >30~120 | £0.3 [ 0.8
. >120~400 | +0.5 £1.2
0% >400~1000 | £0.8 2.0
~ — >1000~2000] £1.2 £3.0 —
T Z it #E Ss000—4000l F20 | ®40] & I il




	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11



